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s =2. 57%
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hTS= 147.17 m
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KM  2+053.50

hTS= 147.85 m
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s =0.67 %

l =40. 78 m

s =0.7%

KM  4+2 42.22

H  = 10 00 m
T  =  6.84  m

f   =   0.02 m
hTS= 1 48.9 m

l  =4 0. 78 m
s =0. 7%

l  =2 .7 5 m
s =2. 5%

KM  4+283.00

hTS= 149.19 m

l  =2 .7 5 m
s =2. 5%

KM  4+285.75

hTS= 149.12 m

l  =2 .7 5 m
s =2. 51%

KM  5+000.00

hTS= 149.96 m

l  =2 .7 5 m
s =2. 51%

l  =3 7. 25 m

s =1. 21%

KM  5+002.75
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l  =3 7. 25 m
s =1. 21%

l  =4 3. 36 m
s =0. 92%

KM  5+040.00

H  = -1000 m

T  =  10. 62 m

f   =  -0.06 m
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l  =4 3. 36 m

s =0. 92%
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s =1. 31%
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s =1. 31%
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l =10. 1m

s=2 .5 %
l =6m

s=0 %

KM  2+011.10

H  = 200

T  =  2 .5

f   =  0 .02
hTS= 146.92

l =6m

s=0 % l =10m
s=2 .5 %

KM  2+017.10

H  = 250

T  =  3 .13

f   =  0 .02
hTS= 146.92

l  =1 0 m

s =1. 13 %

KM  6+000.00
hTS= 151.19 m

l  =1 0 m

s =1. 13 %
l  =2 7. 16 m

s =1. 14 %

KM  6+010.00
hTS= 151.08 m

l  =2 7. 16 m

s =1. 14 %
l  =1 0. 23 m

s =0. 89 %

KM  6+037.16
hTS= 150.77 m

l  =1 0. 23 m

s =0. 89 %
l  =3 1. 98 m

s =0. 56 %

KM  6+047.39
hTS= 150.68 m

l  =3 1. 98 m

s =0. 56 %

l  = 1 3 . 8 6  m

s  = 0 . 0 1 %

KM  6+079.36
hTS= 150.5 m

l  = 1 3 . 8 6  m

s  = 0 . 0 1 %

l  = 6 . 9 2  m

s  = 0 %

KM  6+093.22
hTS= 150.5 m

l  = 6 . 9 2  m

s  = 0 %

l  = 9 . 8 6  m

s  = 0 . 0 1 %

KM  6+100.14
hTS= 150.5 m

l  = 9 . 8 6  m

s  = 0 . 0 1 %

KM  6+110.00
hTS= 150.5 m


